
MANUAL
F

U
N

C
 V

E
R

T
Y

PL020052



Func Verty

     10 mm 

2

A   Wall Plate        

B   Vertical Bar                

 E

1      

2

2      

C    Screw Bag             1      

Screw M4x16 4 

Screw M6x30 4 

Screw M8x20 4

Screw ST4,2x16                

Screw M6x16 4 

Spacer plastic  d8,2/D15x10                   4

Spacer plastic  d6,1/D15x5                     4

Washer 6,4                                              4

Multiple washer                                       4

Screw M6x10 4 

1

A    

B              

C

B              

D

E

 D

C                Screw Bag                1      

Spacer                  D25/d8,2x33 2      

E

D

B              
B              

B              

Allen Key 4     2



3

229 m
m

229 m
m

5

A    

6

A    

B              

B              

B              

C

Func Verty

3

Unlock 1/4 turn (2x)

2

4

B              

A    A    

B              

B              



4

2
0
1
0
-0

4
-2

2

7

B

A    

Func Verty

B

B


